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SECTION A [50 MARKS]
Answer ALL the following questions in the blocks provided
QUESTION 1 [71
{n  Define the Gross Domestic Product (GDP) (4)
(n)  Define inflation (3)
QUESTION 2 [15]
(N Use the following diagram to show how the equilibrium in the money market changes if the

level of Income In the economy ncreases Remember to label your diagram {3)

U
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(n)  llustrate on the following diagram of the South African foreign exchange market what will
happen to the exchange rate between the rand and the US dollar if South Africa
implements import substitution measures Remember to label your diagram (3)

(m) You are the chief economic advisor for the government of Mahala Mahala 1s expernencing demand-
pull inflation despite the stated objective of the government to achieve price stability

Explain, with the aid of the following diagram, what steps the government of Mahala should take to
achieve this objective 9)

- Clearly indicate on the diagram any changes to aggregate demand or aggregate supply,
prices and production that might result from the actions taken by the government The
diagram counts three (3) marks

- In your explanation you must deal with the following

The instruments of fiscal policy, how they are applied and what effects they have
Your explanation counts six (6) marks

[TURN OVER]
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QUESTION 3 [11]
Given the following information

C =400+ 0,8Yd
T=0,2Y

G =450

[=300

X=600
Z=200+0,1Y

[TURN OVER]



5 ECS1028/ECS1601/REC102Y

October/November 2011
Calculate (Show all your calculations)
the multiplier (2)
the equiibnum level of iIncome (2)
the value of Induced imports at the equilibrium level of income (2)
the value of net exports at the equilibnium level of income (2)
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. Use the following set of axis to draw a diagram of the model Clearly indicate the values of total
autonomous expenditure and the equilibrium level of Income (3
0
QUESTION 4 [17]

() The Swaziland government has discovered some diamond deposits in an area that is about
40km from the country’s largest city, Mbabane Explain how this discovery will affect the
value of the Swaziland currency (the Lilangeni) (3)

]

() Distinguish between active balances and passive balances and mention the man
determinant of the quantity demanded of each (4)

[TURN OVER]
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Use the aggregate demand-aggregate supply model to explain how an increase In the repo
rate will affect the level of production and income In the economy (5)

Explain why policy makers cannot solve the stagflation dilemma using only demand
management policies (5)

*hkkk k Akkk

[TURN OVER]



8 ECS1028/ECS1601/RECT102Y
October/November 2011

SECTION B [50 MARKS]

Answer ALL the questions in this section on the mark-reading sheet which 15 supplied Each question s
worth 1% marks Note Only ONE statement per question is correct

1 The diagram below shows the circular flow of Income and spending between households and firms

Firms ————

(1) (4)
Y
Factor market Goods market
(2) (3)

. HoOuseholds

Which one of the following statements 1s correct?

[1] Flows (2) and (3) represent Income

[2] Flows (2) and (4) represent spending
[3] Flows (1) and (2) represent spending
[4] Flows {1) and (3) represent spending

2 In the circular flow of income and spending, nominal Gross Domestic Product must be equal to

[1] consumption of durable goods

[2] consumption of non-durable goods
[3] savings

f4] national Income

3 Which 1s the largest component of the M1 money supply?

[11 cash

[2] demand deposits

[3] travelers' checks

[4] savings-type deposits

4 When the entire banking system makes use of excess reserves to grant new loans in the form of
deposits,

[11 the credit multiplier decreases

[2] the credt multipler increases
[3] the credit multipher remains unchanged

[TURN OVER]
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The demand for active balances will increase If

[1] real GDP increases

[2] the GDP deflator decreases
{31 real interest rates decrease
[4] the supply of maoney Increases

Commercial banks create money

[11 by printing money

[2] through multiple rounds of extending loans and accepting deposits
[3] when they buy government bonds from the SARB

[4] when they decrease their desired reserve ratio

An appropriate measure of government’s involvement in economic activity 1s

[11 the volume of government subsidies

[2] the total government spending

[3] the share of government spending In total spending in the economy
[4] the growth of government spending

A good example of a pure public good I1s

[11  public transport

[2] the national health service
{3] national defence

[4] rail transport

Ataxs

[1] regressive when all taxpayers pay the same amount of tax

[2] regressive when all taxpayers pay the same rate

[3] proportional when all taxpayers pay the same amount of tax

[4] proportional when 1t 1s levied on goods and services at the same standard rate

Many politicians argue that a good way to increase government’s revenue Is to increase the tax on
gambling Revenues from such a tax would be largest if the price elasticity of demand for gambling 1s

[1] unit elastic

[2] highly inelastic
[3] highly elastic
[4] perfectly elastic

[TURN OVER]
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Consider the following table, which shows the production possibilities of the two countries A and B, and
answer question 11

11

12

13

14

15

Cocoa production Tea production
(Output of 50 men intons) | {Output of 50 men in tons)
Country A 90 60
Country B 20 40 J

Which one of the following statements I1s correct?

[11 Country A has an absolute advantage in the production of both tea and cocoa, and a
comparative advantage In the production of tea

[2] Country A has an absolute advantage in the production of both tea and cocoa, and a
comparative advantage in the production of cocoa

[3] Country B has an absolute advantage in the production of tea, and a comparative In the
production of cocoa

[4] Country B has an absolute advantage in the production of cocoa, and a comparative advantage
in the production of tea

Given the domestic {South Afnican) price of T-shirts 1s R50 and the world price 1s R30 Assume the
South Afnican government decides to eliminate an existing import tariff of R10 on T-shirts As a result
net exports

[11 and domestic production will increase
[2] and domestic production will decrease
[3] willincrease and domestic production will decrease
[4]  will decrease and domestic production will Increase

A decrease in the demand for USA dollar in the South African foreign exchange market would result If
there 1s

[1]1 a decrease in the South African exports to the USA
[2] a decrease In the gold price in South Africa

[3] a decrease in the South Afncan tounsts to the USA
[4] a decrease in the USA tounsts to South Africa

If the SARB buys dollars in the South African foreign exchange market, the South African rand will
[11 not be affected

[2] appreciate

[3] depreciate

If production remains the same and all prices double, then real GDP

[1] and nomminal GDP are both constant

[2] 18 constant and nominal GDP is reduced by half

[3] s constant and nominal GDP doubles
[4] doubles and nominal GDP is constant

[TURN OVER]
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Questions 16 and 17 are based on the following information

Assume that in 2009 South Afnica produced only three products soccer balls, beer bottles and vuvuzelas
Total production amounted to 12 soccer balls, 6 beer bottles and 30 vuvuzelas at a respective cost of R10,
R4 and R2 each

16

17

18

The nominal GDP n 2009 was

[11 R102
[2] R120
[3] R144
[4] R204

In 2010 South Africa produced 10 soccer ball, 5 beer bottles and 25 vuvuzelas at a respective cost of
R11, R5 and R5 each From this one can conclude that nominal GDP from 2009 to
2010, whereas real GDP

[1] decreased, increased
[2] decreased, remained constant
[3] ncreased, remained constant
[4] 1increased, decreased

The sum of the marginal propensity to consume and the marginal propensity to save 1s

[1] equal to disposable income
[2] equalto zero

[3] greaterthan one

[4] equaltoc one

Questions 12 and 20 are based on the diagram below

1

[TURN OVER]
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19  The shift in the investment function from I, to |1 1s as a result of

[1] anincrease In the repo rate

[2] a decline n the prime rate

[31 an mprovement in profit expectations
[4] anincrease In savings by households

20 A movement from point b to a 1s due to
[11 anincrease in interest rate
[2] a decrease In autonomous investment spending
[3] adecrease In Income
[4] worsening profit expectations

21 If C =50+ 0,9Y, then at an income level of 1000, savings are

ECS1028/ECS1601/REC102Y
October/November 2011

1] -100
[2] -50
[3] 50
[4] 100
Questions 22 to 24 are based on the following information about an open economy with a government
sector
Autonomous coensumption = R 100 million
Investment spendmg = R 300 million
Government spending =R 200 mullion
Exports =R 150 millicn
Autonomous imports = R 100 milien
Mulbplier =2

Full employment income level= R 2 150 million
22  The equilbrium level of income 1s

[17 R1 300 million
[2] R1625 million
[3] R1950 milion
[4] R2 145 million

23  The budget surplus at the equilibrium level of iIncome 15

[11 -R50 miilon
[2] -R70 millon
[31 -R130 milon
[4] -R170 million

24 The full employment income level can be reached by

(11 increasing government spending by R200 million
[2] increasing exports by R175 million

[3] ncreasing mports by R175 million

[4] ncreasing investment spending by R425 rmillion
[5] increasing government spending by R525 million

[TURN OVER]
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The multiplier 1s

[1]1 the exponential increase in aggregate spending caused by a decrease In interest rates
[2] the amount by which spending will multiply when real GDP increases

[3] the product of the increase in equilibnum iIncome and an increase In iInduced spending
[4] the ratio of the increase in equilibrium income to the increase In autonomous spending

A decrease In leakages from the Keynesian model with a government leads to in the
multipher

[11 a decrease
[2] no change
[3] anincrease

In the Keynesian model with a government sector, an increase In national income will lead to an
Increase IN

[1] consumpticn and government spending
[2] saving and investment

[3] saving and taxes

[4] consumption, saving, and taxes

Assume national output 1s at the full-employment level of output and the government budget is
balanced A reduction in investment spending would lead to

[1] adecline in output and a government budget deficit

[2] a decline in output and a government budget surplus
(3] anincrease in output and a government budget deficit
[4] anincrease In output and a government budget surplus

The purchase of bonds by the SARB will have the greatest effect on real GDP if

[11 the marginal propensity to consume 1s low, and the interest rate has a large effect on
investment spending

[2] the required reserve ratio 1s low, and the interest rate has a small effect on investment
spending

[3] the required reserve ratio I1s low, and the marginal propensity to consume 1s high

[4] the marginal propensity to consume 1s high, and the interest rate has a small effect on
investment spending

The implementation lag for monetary policy 1s generally
[1]  much shorter than it i1s for fiscal policy

[2] much longer than it 1s for fiscal policy

[3] the same as it 1s for fiscal policy

Fiscal policy can be used to

[1] manage the total demand for money

[2] control the exchange rates

[3] regulate the quantity of money
[4] manage the total demand for goods and services

[TURN OVER]
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Assume the economy experiences both a supply shock and a decrease in investment spending This
would cause the level of iIncome

[11 and the price level to increase

[2] to increase and have an indeterminate affect on the price level
[3] to decrease and the price level to increase

[4] to decrease and have an indeterminate affect on the price level

The production price index

[1] includes all goods and services

[2] measures the consumer's living standards
[3] includes only capital goods

[4] excludes the interest rates

Question 34 1s based on the following information

34

35

36

37

Nominal interest rate 9 percent
Expected inflation rate 4 percent
Actual inflation rate 2 percent

What i1s the difference between the real interest rate a lender of money receives and the real interest
rate the lender expected to receive?

(11 2 percent
[2] 4 percent
[3] 5 percent
[4] 7 percent

Workers and retirees would want to have their wages and benefits indexed to the Consumer Price
Index in order to

[1]  maintain their purchasing power during years of nsing output

[2] maintain their purchasing power during years of declining output
[3] increase their purchasing power during years of inflation

[4] maintain their purchasing power duning years of rising prices

A depreciation of the rand may have inflationary consequences In South Africa because it

[11 discourages exports

[2) decreases the international competitiveness of South Afrnican producers
[3] discourages international tounsts to visit South Africa

[4) ncreases the price of imported goods

Which of the following will most likely occur as a result of an increase in labor productivity?
[11 Anincrease in output and a decrease in inflation
[2] Anincrease in interest rates and a decrease in investment

[3] A decrease in exports and an increase in employment
[4] A decrease in unemployment and an increase in inflation

[TURN OVER]
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Use the information below for country Z and answer question 38 All the figures are in millions

38

Total population in 2001 1 800
Total labour force 1n 2000 550
Total labour force 1n 2001 675

Number of people unemployed in 2001 225

The unemployment rate in 2001 1s approximately

1]  12,5%
2] 22.7%
3] 33,3%
[4]  40,9%

Use the diagram below, which represents Phillips curves to answer question 39

39

40

AP

P

Pl

U

0

A simultaneous Increase In Inflation and unemployment from points A to B resuits in

[11  hyperinflation

[2}] stagflation

[3] cychcal unemployment
[4] seasonal unemployment

For a given government spending and tax rate, the government budget deficit will grow during
and decline during

[1] booms, booms

[2] recessions, recesslons
[3] booms, recessions

[4] recessions, booms

Tkk kkk kkkk
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